Conics Unit Name K EJ l

For Clrcles find the center, radius, then graph.

For Ellipses: find the center, vertices, co-vertices, foci, then graph.

For Hyperbolas: find the center, vertices, co-vertices, foci, asymptotes, then graph.
For Parabolas: find the vertex, focus, directrix, axis of symmetry, then graph.
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Find the equations for the following parabolas:
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Find the equations for the following ellipses: v
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Find the equations for the following hyperbolas:
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Classify the following as Circles, Ellipses, Hyperbolas, or Parabolas.
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